\@.) mgaa(dwamgd us not to enter the area.

@:e;ow to fill in the blank in the following

4. Identify the correct passive form of the verb from the options

Anation_______(hold) together by shared belie éf |
(1) Isheld (2) Wereheld 3 b (4) to be hold

5. Fill in the blank with an appropriate verb s w1th the subject in the following sentence.
One of the most important secrets —, instead of being against something, be for

something.
@ I (2) (4) Does
6. as an incorrect spelling?
(2) VACUUM
(4) JUDGEMENT

7.  Identify the grammatically incorrect sentence in passive voice from the options e b
(1)  These windows in my room really need to be cleaned soon, . '
~ (2)  The President is hoping to be elected for a second term, ‘
Y 3) Sheela and Swathi might have been invited to the party. :
y) Raveendra has asked to make a presentation at the meeting by i<
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10.

11.

12.

13.

14,

15,

16.

L |7 A AN e o

What is the meaning of the idiom “turn the ¢lock —
ack’?

(1)  Torestore something to a former condition

2) To waste time
(3) Toturn off the alarm clock
@ To do things with a jet speed in future

Identify the corecl form of the following sentence to be converted to direct speech
“They told us that they would start the admission process the following day.’ y |
(1) “We will start the admission process tomorrow,” they told us. 4

2) We told them, “They will start the admission process tomorrow.”

(3) “We would start the admission process the next day,” they told us.

(4) We told them, “We had to start the admission process tomorrow.”

Fill in the blank with an appropriate article in the following sentence.
axe.

Past glory and education don’t count for much. We have to continuously sharpen
(1) An (2) The 3) A (4) Noarticle is required

Identify the correct idiom which means ‘accurate information™?
(1) Chapter and verse (2) Closed chapter
(3) Dead and buried (4) Caught in the crossfire

Fill in the blank with correct preposition in the following sentence.

He gaped some developed countries in wonder for their vast materialistic progress.

(1) At (2) Away (3) On (4) Over
Fill in the blank with an appropriate article in the following sentence.

People without conviction do not take stand.

1 A (2) An

(3)  No article is required (4) The

Fill in the blank with an appropriate form of the verb given in brackets to make it a meaningful sentence.

Unless you _ (read) today, you cannot be a perfect person tomorrow.
(1)  Are reading (2) Read (3) Hadread (4) Have read

Fill in the blank with an appropriate pronoun that agrees with the subject in the following sentence.

The biggest achievement of Digital India has been tremendous success in ensuring digital

inclusion for all in India.

() Is (2) Are (3) Has (4) Does

Ly M
K- | |
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17. Identify the correct synonym of the underlined word in the following sentence.
‘Illustrious people seem to light up everything around them.’

(1) Eminent (2)  Obscure (3)  Notorious (4) Obsessed

18.  Fill in the blank with correct preposition in the following sentence.
Steve Jobs said, “Innovation distinguishes a leader and a follower.”

(1) Between (2)  From 3) On (4)  About

19. Identify the correct antonym of the underlined word in the following sentence.
He was fishing for a squid with pals in shallow water.
(1)  Shoal (2)  Superficial (3) Deep (4)  Skin-deep

20.  Identify the word with correct spelling from the options given below.
(1)  MANOEUVRE (2) PRONOUNCIATION
(3) CONSCIENSCIOUS (4) CHANGABLE

Read the passage given below and answer the questions (from 21 to 25) that follow :
The beginning of this fun-filled season with the sun hidden behind the grey clouds brings cheer to many of us waiting
eagerly to splash in the rains. Ofcourse not everything about rain is glamorous. Especially when you think aboul
endless traffic jams, the bad roads dotted with potholes, uncleared garbage and the spate of water borne diseases.
Also viral infections like cold and cough make their presence felt.
Most infectious diseases prevalent in the rainy season can be prevented by simply washing our hands regularly.
Scrubbing hands regularly with water and soap can prevent us from contacting respiratory and diarrheal diseases.
Kids have a lower level of immunity and hence hand washing becomes a crucial part of their lifestyle. When playing
especially during monsoon season kids come into contact with germs and can unknowingly become infected simpl)
by touching their nose, eyes or mouth, The Food and Drug Administration states that the human influenza virus car
survive on surfaces for up to eight hours, making people susceptible to catching it each time they touch the infected
surface. Hence repeated hand washing is required.
To make the best of the rainy season we should follow some simple guidelines. First of all if we decide to get wet i
rains we should change into a dry set of clothes at the earliest. Also we should keep raw food items at bay and was!
vegetables and fruits thoroughly before use. Moreover, strict kitchen hygiene should be maintained in order to enjo;
one of the most beautiful seasons of the year. Also, in order to have a trouble free rainy season home made fresh foo!
should be given preference over the fast food sold in the market. h

21.  People wait for the rains since they can in it.
(1)  splash (2)  have potholed roads
(3) spate of water borne diseases (4)  endless traffic jams
22,  Besides maintaining kitchen hygiene we should s0 as to keep us disease free in the rainy seasot
(1) avoid raw fruits (2) enjoy raw fruits
(3) _avoid vegetables (4)  consume more fruits and vegetables 3
K-13241-P11-ET 4A TS
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28.

After getti in rai
[ getling wet in rains we should put on dry clothes

l aQ |ate ace ‘o1
() aslate as possible (2)  whenever we like to ' T

( ) l ” .
- ‘L' Ldl \ ‘l-; l)()t'\ 1 ]L 4 W l(-l ~¥L a .nlC

The passage suggests that small children should wash their hands
have lower immunity.

(1) frequently (2) rarely 3)

in the rainy season since they
after every meal  (4)  before every meal

rd in the passage whi > R— .
The wo the passage which means the same as prone and vulnerable’ is

(1) dotted (2)  hygiene (3)  susceptible (4) influenza

-

- o l 1
Let A, B,C, D represent the marks of four students respectively. If the average of A,B,Cisl0—; B,C,D1s
3

2 . 1 . 2
135; C.D,A1s 12;;;md D,A,B1s ll;;thcn 5(C—B)=

1
A,B,C,D &3m0 Senthth Jighher Srined Srdrohdoonroe. A, B,C O Bwg), difen 105;

2
B.C,D & Q¥ .‘66&»13%; C.D,A ®© Q¥ .‘66&»12%; H80H D,A,B © B0, K)de.nl]g@oooé

5(C—B)=
(1) D+A-B-C 2y A(D-A)—-(B+0O)
(3) 2A-D (4). . D-A

Let n be a positive integer and n< 193, If n and 193 are coprime numbers, then the sum of all possible values
of nis:
n &8 &S rgtolo B N'< 193, ©@DEe. n $00050 193 €0 DIPHERS Dogowd n H PAgHE B

QeSO ATy, o

(1) 18528 (2) 18336 (3) 18527 4) 6240

A Shopkeeper spent 20% of his profit in a particular month towards wages of his workers. From the remaining
profit he spent 10% towards his shop rent and 40% towards his family expenses. He then saved the balance
amount of Rs.50,000 in a bank. Then the total amount he spent towards wages and rent is (in Rupees) :

28 (5PErPtId 208 DB S0 ¢S HNS &°25065° 20% &8 5¢5 (o HATOS By SeSTI8 PEY
Bk, eoafods® ADD TeAS® 10 Feere)) K 27 $8050 40 FPeR) eesd) LhHenoed PENOD e
Borcds. @ Sthares DAOS 50,000 Erarahesy geESt iy Brth. wond W SETVH
520050 2D SOoDS Bwefo Frday (ErraHOS®) :

(1) 25,000 2) 35,000 (3) 40,000 @) 75,000

K-13241-P11.ET 5-A [T
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31.

4

32.

33.

' C ) .

N

—4:5.a+2h=55and 3b—-c= 35then 3a+2b—c =

—4:5.a+2b=550005 3b-c —~35mone33a+2b—c=
4) 75

If a:b =3:4. b:c
83 a:b=3:4. bic

60

2y 45 (3) 50

(D

n A. But its speed is reduced by

The distance between two stations A and B is 480 km. A car started fror L
ation B is increased

20 kmph than it’s usual speed due to road traflic and the usual time of reaching the destin
aHend808; oD 5% &rab $g
(55508 o0 B 2 B33 HdoadHo
t50830e5°)

by 2 hours. Then the usual duration of the total journey is (in hours) :
Botks HBen A HBa5 B © S¢Sy o 480 8.80.e0. 28 5°60 A $30% 2

o9 Stfo T AetSen Stfo KobS Koer 20 3.80.0 S eSfod HOa &8

SoErSEn $55050 Lob 2 fotren DOAB. wond Jrf YArETdS HE AEeEs SO $5g58(

1
7 om

4
“4) 5

@ 3

| —

(1 o6

The day of the week on 5" September 1887 was :

(1)  Sunday (2) Monday 3)
1887 30235 58 08 & B 390’ & 8% :

DfSae8o 3)

Tuesday (4) Saturday

(1) esdae8o (2) SvotiFarSo 4) #Jdzrbo

A started a business by investing Rs. 5,25,000. At the end of 5" month from the commencement of the business
B joined A by investing Rs. 4,32,000 and at the end of 8" month from start of the business C joined both A
and B by investing Rs. 6,30,000. If C"s share in the profit at the end of the year is Rs. 50,000 and A’s share is

Rs. x more than B’s share then x =

5,25,000 ErarafHe 2EnGE’ A 28 argaroR)) rodomed. TPgIPTRY) PG00SO ok 58
SRr0esoes® 4,32,000 ErarafHe 2¢n2cES’ A & B Soecd S8k argant Jrtoao Suod 855 Srdrodod’
6,30,000 oo BEWESE" A 50805 B o8 € Boveh. Sodehyoroeso &80 ergsoes® C aoese 50,000

Errdeafen SHB0SN A &P B a0 o3 X Eraroen J&y) 38, x =

(1) 60,000 (2) 75,000 (3) 50,000 (4) 65,000

A .Can do a work in 6 days and B can do the same work in 9 days. A and B along with a third person C can
finish that work in 3 days. If the total wages for the work is Rs. 24,000 then the wages of Cis (in Rupees) :

A 28 DIV 6 Berods® Sahifed $o80k B ©B HID 9 B2res® SaHrios. A 5980k B e SamEs 555
C &° 502 03 5 3 Fer0ss® g Bobifoth. & HI8 ey Sescre Bneo 24,000 ErarcHBE € @u
-2 » o« v

Se8So(BrarodHeds’) :

12,000 4.000

(D (2) 8,000 (3) 4) 6,000

K-13241-P11-ET
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35.

36.

3n.

38.

"db"I\ATb;\ —

the cost of forming the track js
for forming the track is

2,8 BYESPER) Boao ey
e 8 8 208 B <5 » . Sk
565 @866 5 Qoo Beg 8 S ED 2reridd T S°HO 80
S 8 SENS®, 2.8 axoersy Do, Heo Bk, FTOFO 61,6

. 100 &> ey A&
(Errage eS‘) rasren Y @ones, e® 25

(1) 435000 @ 756,000 3) 570000 ) 675000

Rs. 100 per square meter, then the amount (in

586 Yo 2.8 DotHR
00 5200, Doegore ot
SR8 eSS Sgo

75-32+23x570+15 of 2+(37—7+5)=

2+(37—7+5) B0, 75-32+23x570+15 =
(1) 505 @) 1729 3) 5041 4y 1816

D. The price of antique rised on

A, B, C, D are four persons. A sold an antique to B, B sold it to C and C to
0% profit then the profit earned

the whole by 80% when it is bought by D. A earned 25% profit and B earned 2
by Cis:

A, B, C, D $extHhth $g5Hen. 2.8 Doessind B $ 4, C B &8csnD £ C oo, D E3enSBS
o Dt & LTS Bk, 56 80% 2BAB. 25% EzrRyA S0 20% &7grRY B &rotred. wond
C 3B e7gfo :

1) 15% 2) 20% (3) 30% 4) 35%

The present age of A is thrice the present age of B. 5 years ago, the age of A was square of the age of B at that
time. But 10 years hence, the age of A will be twice the age of B at that time. Then the present age of A (in

years) is :
A BwE); S8 SaHdy B ABwE); DR SOHANED Sa3°¢ 89.,,». 5 Sodesyore §efo A G, SAHAY 2983

B Bng), S0y GB08); S8 HB550. 5D AN S0 HO HoNehTre STmges, A Bog), S0 e
B B8, $505:39)% 8otk 3E». 00 A g, Hrves HaDHRY (Rodyores®) :
m 9 2 20 3 18 4) 30

By selling an article with a discount of 25% on its marked price, a trader gets a profit of 121 %. 1If the discount
2

is 30% on its marked price then the gain percent on its cost price is :

1
2 S50 % T HEEES (5653 25% 8R0S’ wDYB w8 TGOS 12°%. 2o $poB. TR HIBES GO
ad) $hoty 30% eond ed §%) (6R Hif) e 0 :

% @) 5%

N | =

1 10% ) 7%% @) 5

\
K- 2
13241P11.67 7-A LT
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39. The simple interest on a certain sum for 3 years at 6% per annum is Rs.22,500 and on the same sum for 4 years
at R% per annum simple interest is Rs.40,000. Then the simple interest on the same sum for R years at 7% per

annum is (in Rupees) :

28 DBR ABPR JOT® 6% SHYPS 3 BB D etHSG 22,500 ErrohHen S0k ©d i
DOT> R% SRS 4 $0BBTo0H e3tHisG 40,000 Srarasren. e@ond ed s O 7% SIS R
BoSesTrOH 23EHSE(ErroHees®) :

(1) 45,000 (2) 50,000 (3) 70,000 (4) 80,000

40. A cylindrical container of inner radius 7 cm contains 6 solid spherical balls, each of radius 7 cm. If the top
most ball touches the upper lid of the container, then the volume of the empty space in the container is

(in cu.cm) :
7 0.80.0 eoesds TG0 (e 208 BIvIseS g, 287 8),¢3 7 20.80. &3PgRYo tfe) 6 oS Hzesed 220e00:8
£OD 508, 9e550¢5 DNHSD €5 2208 &3 Jreh G, DB KRR €063, AN &9 oe8eS® g iy

| Srodfo G, HBBPE0(.20.2.06) :

(1) 2156 (2) 8624 (3) 6468 4) 4312

It is given that, if two pipes of radii 7 and 7 can fill an empty tank in 7 minutes and 7, minutes respectively

41n
here a t m,

and the speed of the flow is same in both the pipes then 11712 =10

ll cm, and 2 cm respectively. The speed of the water flow through them is same. The widest tap can fill an

empty tank in 45 minutes. If all the taps are opened simultaneously, then in how many hours the empty tank

will be filled?
1, ry S°GRCGEeOO® tfe Bocd fgen 28 g G5 SEOIM 1 Aoaren 8ok 1) DArereS® DoHHAH

S0, HES HaoG Stfo Both FEFeSTER 2.8er srotl RN 11” =17” © BBIASB. SEHBe 1 0.8,
11 230.80. 58050 2 Ro. D3 DGR (fo) Haeedd LHEraen T0w. a3°¢3 ok Sy Aed Havesro BaY),

N

™

B B0 2.8 DSt Eotnd. SeE3S” Y oel Ko Scker)ed HErow 2.8 7P F%ID 45 DQAPeES® DoHiiersd.
o o) Heroned 2,878 BED oDV, D) HotreeS® & g7 %3 Dockresrod?

-

12 20
—= 2 = (3) 25 _ @ 191

(1
29 29 4

42.  If the HCF of 546, 1155, 462 and 1365 is H and LCM of 252, 504, 108 is L then - —
H
H 038 546, 1155, 462 55008050 1365 e &Dézr ¢1.8°.25° 8%y L 93 252, 504, 108 & cB:oéz,_ E.e. D
L
@oes — =
H

(1) 144 (2) 180 3) 72 4) 360
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18 ith 3 it usual
speed is increaseq by 15 ” S€C with its usual speed. It can cross theskame platform 1n 15 sec if its
" ph. If the length of the pl N f the train then the usual Speed
(in kmph) of the trajp, i . e platform is 1—2- times that of the train,

28 00 AG6Es Stsoes
| ©E WETSI 18 28056 crtstiens, o areedes SR oerd 15 5 =

SRS Do @ o, 1
- B DR & Sen 15 Do mrerforrs. e Friars B8y e l—i
Ggaoes, Je QBor), Avgreses Jrg, (ot 8.8y e065°) :

1) 60 @
) 75 3) 85 @) 100

=4/308 080+ .. 70 o0 J
. Ifx \/3 0+\/3080+ 3080+...t000,y=\I200J200 200...70 © and x + y=2, then \];_Z_z
x=\/3080'*‘\!3080*'\’3080'*'---1000,)’=«’200J200 200... 10 % HBE$N x+ y = 2, VONS ez =

(1) o4 (2) 128

(3) 256 4 512

5. A watch loses 5 min in every 24 hours duration and another watch gains 3 min in the same duration. If both
the watches show identical time ‘t* at a particular point of time, then by what time duration (in days) they both

show the same identical time ‘t’ again in near future ?

3B 24 fotrwr SZHRES® 2.8 HEASo 5 Aaren E&C\K0d HBASH 8 SHHS® LB Hdaseso
3 Qoren erel HEEeHoB. Botd HEASTTrey 2.8 VY $HaHos® 28 HaHo T 5P, WD
ANGAS® &3 Both HHEOSTTRED & oD HgHHS® (B2r0e®) Hody @ HSvraDHo ‘t* D SrdHeEeon ?

(1) 90 (2)7 120 N (3) 180 i ? 4) 240 3L
& ~ g
\«u ‘,\?/
\f\/
%.  The divisor of 7280 among the following is : \%«,) i
‘ A

$08 e3¢5 7280 B, eresto : >

D 119 (2) 264 3 17 4) 182
4.

A sum of money invested at interest, compounded annually, amounts to Rs. 7680 in 2 years and Rs. 8192in 3
years. Then the sum of money (in Rs.) invested is :

TOT SEE8 mignads Sves Avsy 2 KoSKTOS” 7680 Errahe Budormrsr Bah 3
MONENTESE 8192 Brarase Sneforrdse @0ongo8. ©0NS 1ENDEM B Aoy (Erarahed®) :

3,500 2) 5,800 (3) 6750 4) 2,250
I
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48. 8 men can do a piece of work in 12 days, 9 women can do the same work in 16 days and 12 children can do i

in 24 days. 6 men, 12 women and 18 children started that work and worked together for 3 days. If only womeT
have to complete the remaining work on 4" day, the number of women required is :

8 006 VN 208 BAV 12 Bereres® Kf BabHrietd; @ HAN 9 H108 Yex 16 Ezrerd” Sabe. &8
HIV12 008 Heyew 24 B2rerss® K18 BohHrierth. 6 Hod HEhpen, 12 S0d Jew HHBas» 18 £r08 DY
& 5D Food, Tl KO 3 Fares B Brco. WOOS HID 45 Fas Eiswo Geo HrE WE
BoHBR ], 538Ky 530 Koy : .

@ 9 (2) 54 (3) 42 4) 24

2 4 2_.2 .04 7% —x*=y"then
49. If x,y,zare any three non-zero real numbers such that Aoyt =g2yt-z"=x" and 2 s

= | 5 | -
(2+1) +(2+1) +(2+1) =

- -1 -1
x, v,z @ wond, (2 +1) 1+(y2+]) +(2+1) =

1
| 1) x2y*Z @ 555 3) 0 @) 1

£y e

th ”
50. 0.7is multiplied by itself and that result is divided by (5) part of the reciprocal of (0.8. If the value thu:

obtained is x, then 9\/_ =
7 e 7,
0.7 8 o B3 thedoSre SayS T, 0.8 B, 55)‘3@2,7&)056 6 S 2rtio3 2Bocrdd. e3 DG3on

52y Dewis xevand I =

1 0.5 2) 14 3) 0.6 4 16
51. Identify the brother of Prataparudra II who settled in Bastar district after the fall of Kakatiyas.
(1) Jagadeka deva (2) Annama deva
(3)  Sudharshana deva (4) Prasaditya deva
5e5Basne Hefae Soestan aa:_(gS 89‘@6 3@«633603(5&5){)& B0¢esd DEPDHEEA RIFLIBID NSKY?
(1) =538 BHedd 2) @D A
(B)  EBS BHed 4) BBy Bk

52.  Who introduced “Nauroz” festival in the court of Delhi sultanate ?

(1) Iltutmish
; -~ (2) Balban
q(;é ) Al{g:ddg Khéljelss (4)  Ghiyasuddin Tughlag
& Bogrisow S5 & RntaFuncse A8 T2 BHodkoiSo HIFES K0Sy D5s?
(1) =} ST |

- 2)  wrepd
(3) ogEES DY (4)  BaSBS s
K-13241-P11-ET 10-A
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53, The exchange rate g dete

e
ange rate Market forces of demand and supply is known as rate.

(3) Arbitrar
57O SHo Zﬁz(;ha;ge iy (2)  Fixed exchange rate
= Qe 4
(1) 2% S8 & o0& wo& 2 eﬁm‘,(‘5) None of the above
. NG 55 & ot dowotd Sr8y& 58
(3)  SSIF BB 55 @) 6 Ee0yd 6

@) 3DsH

54, Identify the plays written by
(1) Harshacharitra, Charida‘:::};avardhana_
(2) Priyadarshika, Ratnavalj and“;\iJ Naganandam
(3) Priyadarshika, Ratnavali and S;‘f}?nandam
(4) Kadambari, Shakuntala and Rygnms
HBSBRDB HoerdSn B el
e DG TeE80038s 1805058,
1) :s"géagg, TS $IBA B0 2
(2) RADEGE, E&DD BN TS 0BKy
(3) VOHEGE, EENHP SoB0%w FKodses
(4) s°oad8, B0 DO Ge$P
55, Plaster of Paris (PoP) is prepared by heating which one of the following mineral at a temperature of 100°C ?
&3 808 P2eS5® BID 100°C ePr5escd I Boieso trgoe 96 a3 2085 (PoP) 505t B0$H2threhrot?
(1) CaS042H.0 (2) CaSOs32H0 (3) © CaS0:2H:0 (4) CaSOH0
56, Name the Afghan leader who strongly supported Rana Pratap Singh in the battle of Haldighati in 1576.
(1) Hasan Khan Mewati (2) Hakim Khan Sur
(3) Nusrat Shah (4)  Munim Khan
& 4. 1576 HodeyBoes® Qe 0$50S° TPEs HE 2506 & HHFOHDED WHS TPaSHL HE?
1) SRS s el 2) &8 aeS B
(3) JS @) S0 T
57.  Which one of the following Indus Valley Civilization site does not have Citadel?
(1) Kalibangan (2) Lothal (3) Surkotada (4)  Chanhudaro
Srotie efBEHSE HozvoBoDS D Foikn (Site) S (Ctade) 500 8ch 7
(1) SOl @ &S @) |, e () Spos
8. Earth’s core is also known as
(1)  Lithosphere (2) Hydrosphere
(3)  Mesosphere (4) Barysphere
ALY e.i)oeﬁc‘;)déa.)&’)) &3 Dedorm &3¢S e90eedd
(1)  RerdSeao 2) eodoE0
— ¥ 308 ess5ea0 @4) oro° 00
T
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S9.

R

62.

61.

As per the constitution of India, how many Members of Parliament (MPs) memberships are allotted for Indiz,
Parliament ? [

(1) 552 (2) 543 (3) 529 (4)  None of the above

26 Doergotio B0 Do Ay S B FIO BggENeR GrES oS Sranoss
238008 ?

(1) 552 (2) 543 3) 529 4) DIDsD

What is the theme of Nobel Prize Summit 2023 to be held in May 2023 and where will it be held ?
(1) Bio Diversity & New York City

(2)  Environmental Protection & London

(3)  Truth, Trust and Hope & Washington D.C.

(4) Disaster Management & Delhi
3 B 2023 SoSehyBoss® FBS 98 BaeS (VSrSo) 2023 Ko DEZAroSeIE00. &3 DS g,

B oot DS H0050 S8 SRS D& DEgeroesentssuodd ?

(1) 285 3o (283 @56)e8) So8askn 5250858y, el

(2) DorgHdes HOGEee (o)z)sovSaooe.)é' SPBES) Ho8asw 05D

(3)  Hesgo, Spdo HoB0%H Gk a6 (EnS, &Y ok FE) S0k To00HS &.8.

@) ek e (Barb H3ER08) O GO

Which among the following substance is expected to have the highest ignition temperature ?
(1) Alcohol (2)  Coal (3) Kerosene (4)  Petrol
&3 808 36" D DIGod® gHE 2350 YIS0 KD 08005 oS SaHeacoed ?

(1) eSS 2) & (3) &8s 4) &S

Related to environment the term SMOG can be defined as

(1)  Ozone and Smoke 2) Sound and oy

(3) Sound and Ozone & Bimksand Fog

HOPGSGETRS 50230600 SMOG a0y DI AEYeSSo

1) 5255 8oy
W e (2)  Rrol 5805w 6

(3) ok Bk 5,555

K-13241-P11-ET
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63' MatCh [hc fOllowing

Group.|
(Inscriptiong) Group.11
(a) The Poona plates . (Perioqg)
.
atakas

(c) Ayyavole Inscriptiop (i) gy
| ara
(d) Hathigumpha Inscription (iv) -

Chalukyas
&3 808 A 35D EHE.,
F,
e O |
(RS SBnew) (o)
(CURIES g D thgpen

(b) 005G FHBBM (i)  arseessen

€ @oHgSen TOSS0 (i)  grSHencs

(d) SEBHo BFEOSE (iv)  erhgHgen
(@ M) () (@

() G (@Gv) (@G @)

(2 @) G) (@v) (i)

(3) @) @) (Gv) (i)

@) (@v) @) @ (D)

64. Which is not a reproductive part of the plant ?

(I)  Root (2) Seeds (3) Flowers (4) None of the above
5 808 S Barth OS° BSEENAS Hoaoocsd BT hoiSos.
(1) 3% (2) Debren 3) ;e @) DIVSD
65.  The new name given to Delhi Rajpath (King’s way) is
(1)  Janpath (2) Kartavyapath (3) Veerpath (4)  Vrikshpath
G S TresdHh @), 5 D
() a856 @) $65556 (3) WD @)  H®
13241 i
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L. Chr onologically arrange the following wars.
(A)  Battle of Plassey (B) Battle of Buxar
(C)  The Second Camatic war . (D) The First Anglo-Mysore war
& 808 cugisiness ghrsotieforr gratn.
(A & oot (B) 2525 afugdn -
(©) Bocss spravs EWAEN (D) B05e3 esofi-Sodrb e

. (B), (C), (A)
M A).®),©.0) 2 ®),D)(©. @A) G (C.(A),®B),D) 4 ([D)®B)

72.  Match the following

Group-I Group-II

(Ashoka’s Rock Inscriptions) (Places located)
(@)  Dhauli (i)  Dehradun Dist, Uttarakhand
(b)  Erragudi (ii) Junagadh Dist, Gujarat
(¢) Gimar (iii) Puri Dist, Orissa
(d) Kalsi (iv) Kurmnool Dist, Andhra Pradesh
&3 806 T BEBESHBD.

-1 Ge&-11

(9859 o°® FH S Ben) (SowoSards HB4Swen)
(a) &9 (i) BLERS Ber, eelorpo&
(b) DH& (i) erseil Rer, heoed
© 0onb (iii) &6 g, 2.63m
@ sy (iv) S8men e, eogHBs

@ () (0 ()
1 @ G) Ay (i)
(2) G @(v) (i) )
G) ) Gv) @) (i
@ ) G G i

73.  Tropic of cancer Passes through

(1) Odisha & Bihgy
(3) Maharashtra & Goa

States.

(4)  Manipur & Chhattisgarh
S8 B —— %90 thow Begod;as&é
(D) a8y &b

(2) D56 & eests 535
(@) Soe3rb & 58555
16-A

(3) SOy & By
K-13241-P11.gT
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1dentify the Indian-origj
(1) RISHI su:r °rigin leaders across the world
AK Only '
2) KAMALA HARIS only
PRAVIND (
(::éoa i 2;36 l;GANAUTH only @ Al of the above
- Sarerenty $oss row roHHO trQocS0ls -

) 8% 0me8 S

& = 2)  Edoer SO L3oehadd

@ éaog 8”"&5 . (4) ?Q&’)ﬁ)()_

The Stock Market Index of Indian Stock Market is known as ’

(1) Brent (2) Sensex (3) NASDAQ (4) None of the above
e ] $5°8),¢5 B, Grdo%  wd eotrdd.

(1) 86 @ A% (3) aear (NASDAQ) (4) PIDED

[dentify the wrong pair about Vardhamana Mahavira.

(1) Siddartha — Father of Mahavira
(2) Trishala — Mother of Mahavira
(3) Yashoda — Wife of Mahavira
4) Jamali — Cousin of Mahavira

édéS"?S PR [SMNEY 40230500

(1) dgg- LEDER B8 S0

2) 8o - HTROD Bt SO

B)  O$HE%S — DDER Gy Aol

@) 2SO - STDED BNEY RSB

08558% HB5°Q 23¢6:) (ﬁgoéaa’m.

7. In which city, Global Investment Conclave 23 (GIC23) is scheduled from 12 April, 2023.

(1)  Ahmedabad (2) Hyderabad (3) Pune (4) Delhi
Food agS 006 s70dS 23 (GIC23), 2023 926 128 O Hgeaods” oSOty ?

(1)  eommed Q) etoed (3) e @ &9

8. Th )

(l)e ballpoint pen works with the principlc.

L . ———————————
A3 aminar flow (2) Intro molecular force
) Surface teﬂSion
a0l (4) None of the above
0 2,
1) oy = Sg§o eggriorr O D008,
=6 Saio
@) o (2) @056 HBBwe 4F
Q)Q'Sége-s ] 35
e 4 ISR
Ty

[~
wwanm(Hi1


https://studybizz.coom/

79. At which place Maratha ruler Shambaji along with his prime minister Kavikalash arrested by the Mughals in

1689 ?

(1)  Raigarh (2)  Rajapur (3) Sangameshwar  (4) Bahadurgarh oL
BOTT° He0:5) S $0ared HH80%HH 3065 FFHB0B EDEFH §.4.1689 &° Bwrfenen D HB%
220800 ?

() oro$HeE 2)  ooebrb 3)  SotiBab @ osarbie

. . l)
80.  Which of the following material is used for dental fillings that is an alloy of mercury

(1)  Amalgam (2) Solder

(3) Bronze (4) Brass ,

&3 808 o365 Hot3ST Bogrersy VoD F°G PGS AFso JB?
h (1) @50 (Amalgam) 2) &0 3505w (Solder)
E: ; (3) ok (Bronze) (4) ¢ (Brass)

: i i kins ?
81.  Which Moghul Emperor made Portuguese rulers angry by welcoming the English Captain Haw

(1)  Muhial-Din Muhammad (2) Jalal-Uddin Muhammad Akbar
i irza Nur-Uddin Mohammad Salim
(3) Muhammad bin Tughlaq (4) Mirza . )
S Budeé ooer, eofoiven (DBR) S $98F) H Aeghelo HOT AN FroHo es(§5508 seUEn
@0Sgedd ?
(1) S2roHS-BS-305m5ns (2)  2erendS Suseand (PENSS
(3) sk DS s @) ge Sr&BS Inssyd H[O

I 82. The process of combination of two or more different companies into a single company in which both th
companies lose their identity is known as

(1) Merging (2) Amalgamation
(3) Takeover (4) Joint Venture
Boch I35 Kodden EDD 28 LodHme Krarosto Bod E00 So0050 EDDS Bocd Londen o83 &I
e EEHH HSEAD 0L .
(1)  ddSo (Merging) (2) B3RS0 (Amalgamation)
(3) Ao (Takeover) @)  &dG 3o (Joint Venture)
83. Identify the country which does not have an Indjan Embassy.
(1)~ Somalia (2)  Pakistan (3) China (4)  Bangladesh
&5 §08 TS° D BoS® g668 Trasseyees seorg0$0 St ?
(1) RSredSs 2) >
W oS ® a= 4)  erord§
\
K-13241-P11-ET 18-A

L


https://studybizz.coom/

8s.

) (i) (i)

(State)

(a) Pradeep Port Authority @)
1 Gujarat

(b) Deen Dayal Port G
(i)  Kolkata

(c) Jawahar Lal Nehru Port i) TamilN
amilNadu
(d) Shyam Prasad Mukharjee Port V) Mubassshe
ashtra

(¢e) Kamarajar Port Limited (v)  Odish

a

865 853D DB IGPBOIT @8 5:) U9 BSHES0d.

i1 HsoR-11
(8065 BY) (o°g90)
(a) 86D ow0d i) theos
b) BS oS 9% (i) &S¥er
0 wasiberd 3T &Y (iil) SDFTED
@) g HIb Swed e (iv) SoHTRY
RuGoaT

() sesdooeesb &G OWBE (v)

@ ® @© (@ (e)
@ W v

@ @i G @v-@ W
@ & @ @ @) 3
@ & (@ (@Gv) @) (i)

Who was the incharge of ‘Pargana’ during Shersha’s period ?

(1)  Faujdar 2) Amil (3) Mugaddam 4)
AP S0t B B, ©BS HSE?
D PeS 2 oS (3) dwage @
ELs2a-P 1T 19-A

Shiqdar

T
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86.

87.

i old rdingl
Idemify the Governors of states and match them with the states of their ruling accordingly
Group-I Group-1I
(Governors) (States)
(@) S. Abdul Najeer (i)  Maharashtra
(b)  Shri Ramesh bais (i) Andhra Pradesh
(¢)  Anandiben Patel (iii) Kerala
(d)  Arif Mohammad Khan (iv) Tripura

()  Shri Satyadev Narain Arya  (v) Uttar pradesh
TR TS5HES 576 SrdoS o590 esgrtorr 23esd0.

01 tiri-11
(+555)8) (°&9°)
(@) S. 20 5286 (i) ST
(b) BEDHIBS (i) esof HAS
(©) 950838 He3e5 (iii) 86
(d) 85 DOLERS oS (iv) 8HY

(@) IS sorahes ey (v) el 935
@ M @© @ (@

D Gi) G @ Gy (W)

2) Gi) () v Gv) @)

G) G @ Gi) Gv) (v)

@ G @O (v @) (v)

Identify the statements which are correct from the following statements.
(A)  Animals eat other dead animals are called as scavengers.

(B)  Bacteria, fungi and earthworms are known as waste decomposers,
(C) Bacteria in human body is always harmful,

(D)  Without decomposers and scavengers the dead animals and plants will not be clear
the nature

&2 ol o7¢365° $6G% DIST0K tHBocSod.,

(A) 5D 230y B3 JBY 230505 ), 30236y @oerss.
(B)  Srgh8xsmen, Bogren 808, TRV SgTress HEFBEEra,
(©) 855 86608 KirgySiioven 599 s0APan.

(D) &S’oﬁ%&b 08050 R Soesby éféabfanége'g SV 23055500 598085 QFe £
56eform erotéchy
(1) (A), (B) & (C) Only (é’).}"’éa)) (2) (A),(B)& (D) Only (éj"éa))
(3 (B),(C) & (D) Only (e ) @) (A),(B),(C) & (D)

N
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8s. Identify the events as the ¢ i
se happened during Indian freedom movement and arrange them in

Chronological

order.
(A) Jallianwala Bagh incident YA
"y

(B) Subhash Chandra Bose

. a Bose reached to Japan for the help of Indian National Army
(C) Dandi march by Mahatma Ghandhi % i
(s Ch«tlmparan Satyagraha by Mahatma Ghandhi © 2
(E) Quit India movement by Gandhiji o
(3] 2 ?ﬂg Slngll. Rajguru and Sukhdev were hanged in Lahore jai
AegeSoghy 0P HBAHOS® BHS Hooerseds ed 380 asBSeea §3300

1 “M )
&5° d)goi.’)o&.

(A) 2OHSToer e3°h Doghesd

(B) @0GOAHS JHSES @by SFaDH0 §%0 Karh So§ B 3 S 305 B2
(C) Hose trold Trgoe Sods SN

(D) HOSEY rofes TRgoP S5oPES DErgiseo

rofes tegoe 83¢5 odas Saeods

E)

F) eSS Bob, TvEHEd Ho805 BB 0 o5 BendS® &8 HBD HoROOD
1) (D) (A), (©), (F), (E), (B) 2) (D), (A), (F), (C)(B), (B)

(3) (A, (D), (B), (B), (F), © 4)  (A), (D), (O, (F), (B), (E)

The chemical name of Baking Soda is

89. i
(1) Sodium Chloride  de? (2) Sodium Hydrochloride Nl
(3) Sodium Hydrogen Carbonate Moy (4) © Sodium Carbonate Aatey
52065 Qe B, BIPCHS Jea0 p :
(1) &&osHo §8& 2) &S0 FTEEVE
(3) &f&adHo '%5_"@6&35 s‘=5§3€5 4) AFG&odo 952)365
90. Identify the following in which Money Bill cannot be introduced
(1) House of the People only (2) Council of States only
: (3) Both (1) and (2) (4) None of the above
555 Snronae SSeyo &agod DS 28 S0 HIFDGETED, 0O De3?
(1) &5 de5 (8 65 & bpS) Srggd () T 25 S
(3) (1) 50005 (2) Botdsdd 4) DI S
91. Every year on which day, the Indian Army celebrates “Infantry Day” to pay homage to the soldiers who fough
; for the country and laid down their lives in the line of duty?
(1) 26" January 2) 15" August (3) 27" October (4) 30" December
DG Bifo 5550 DE 65830 BroBB0HL VTP e9BY0SEDE $B Hodeydo 3ee5e8 iS50 “EOTOS
(DSBS Ho 8%x) 8% 2360pekr08 ? |
B 20 a0 (2) 15" estsido 3) 27" b () 30" &Rowd
IIIIIIIIIIIIII.I

K-13241-p11-
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d by Union Government of India that aims tO hoost the

92.  Which of the following Policies has been approve
country’s Space Department’s role ?

(1) National Science Policy 2023 (2) [Indian zpafcl 1;01:.0)/ 22(();;
(3) National Security Policy 2023 (4) Indian Socia olicy .
Y
(1) IR9E 2R o 2023 @) 0B “’»3"’;"”“’“2023
(3) 3:1:‘66?0&5"568 Soesty 2023 ) ao&oﬁ)s PR reom 2023
: ; ) bout Rigveda ?
93. Which ft not con‘cC[ a
ot R W IIlORIngEnt, tras and 74,000 words.

560 man

1) Ri i 10,
(1) gveda covering 1028 hymns, dic Aryans does not seen to have extended beyond the Yamung

(2)  The geographical knowledge of the Rigve

River. hi
3) M . Rioveda addressed 10 Shiva .
3) any hymns in Rigveda a al assemblies were existed and controlled the powers of the kings.

(4)  Sabha, Samiti and Vidata, the trib z )
& 8oB HSSSSROS" ligTRS Somofiod P00 B 7
oggren 000 74,000 HE5S00 EOX.

(1) exofigesods® 1028 7o, 10,560 &

(3)  exofgisns’ AT §ERN0 P LA R
@) %25, HNB HHHas» s oo HBZD %25 (9R0f)en) 2200868 soe)0e5® OPere) BN @OSBER0O8

é%»wené" G&oDTOOW.

04. Which is an Indian initiation to promote Medical Tourism in India ?
(1)  Universal [mmunisation Program
(2) HealinIndia
(3) Ayushman Bharat Yojana
(4)  Pradhan Mantri Swastya Suraksha Yojana
808 IS° SoBES tardaso DY BoHEeRS BRB0DD sPEgEa0 0 ?
(1) ahrISEHS 'aé.\:‘g@éés o
(2) &S 3 Qokosr
(3) oS grES Bresd
4) TS S8 Jgdg g Bresd

95. : ;
5. The Reserve Bank of India undertakes transactions to balance any deficit in its Balance Of Payments (BOP) i

called transactions.
(1)  Capital Investment (2)  Auction sale
23;5 Official res:rve sale (4) None of the above
S argo8 @D Fodoke BDoSSeRS Sefos® Sn B[ T8 258 [oHeRd BS
TIBIO @oé3) ]
(1) =268 a339Iv0eS 2) e85
() ©bhad baby b6 @ 230
K-13241-P11-ET
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ment o
e of India in March 2023. What is the full form of NILP ?
1Ving Program |

ogram

(1) Nort
: heast Independent
(2) New India Literacy Pr.

(3)  Northern Irelang Labour par
arty

(4)  Nestle’s Internship Leap Prog
Jram

NILP @:80:858 2023 50506
(o]
s OO0 878y JeseS* pyecses HaHAB0 FrBoBoDS HEo. B Hyrd BrHo Ned?
(1) S5 &8 RoG0GEES ODF e . ) |
-~ O o
2) g Bocasr HevsS Beryeo
(3) 3 ngrobk Sexb 8

@) I, @By S Pegro

97. Under which article in constitution of India, District Judges are appointed ?
(1) 243 (2) 233 (3) 320 (4) None of the above
ates Tregotio HS°E0 o @85S (20¢5Y) Trgoe e FegOSrEs™0 DoHAodWESEs ?

(1 243 (2) 233 3) 320 4) 235D

98. Which of the following is not a measure of Internal Security of India?
(1) Preventing illegal activities in the country '
(2) Development of strong mechanism to fight against cybercrimes
(3) Effective implementation of law against corruption
(4)  Protecting Indian citizens residing outside the country
&3 S08 °e365° axotses @oégé AN %02308058 N&?

(1)  BHos® 5ty DB 95550‘3"026) NGB

2) b Jored Sgédgorr SR8 HHESBR drgien

3) @B NERRRD 502505000 r;Seg"eJ:f)J K)s’wgéoefom e HPSto

4)  gw8es e 36 Bres® 8 85

9. Which of the following nutrients are not contained in milk ?
(1)  Calcium 2) Fat (3)/ Fibre (4) Protein
3 808 ae365° A5 S &otsd)?
(1) S*@ao ) §Sg 3) ;’.,_)a)S “4) @935
1 \
| K13281p 5 |||||||||||||||
23-A
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100. Identify the dancing style and match with the originated state

Group-I Group-11
(Dancing style) (State)
(a) Dandari () Assam
(b)  Chhau (i) Karnataka
(c)  Bihu (iii)  Goa
(d)  Yakshagana (iv)  West Bengal
(éea)g &Dekham (V) Telangana
08 3°¢3e5%%) RS sy eody GNoDS Tor9OSE’ 23e5HGSHBW.
581 t8-11
(R)&g Dgeiso) (o%90)
(a) ¢Socd (i) B0
(b) TND (ii) S{opl A
©) B (iii) &%
d)  oHgmS (iv) DBy Bores
€ B (v)  Beorres

@ m @© @ (@
M & Gv G G (i)
@) W Gv) Gi) @G (ii)
) ) G @ @Gv) (i)
@ v @G G) @v) (i)

101. Identify the Kings and their regime in chronological order.
(A) Kalinga war by Ashoka resulted more than 1,00,000 deaths
(B)  Chandra Gupta Mauryas ruling
(C) Jalaluddin Muhammad Akbar started as emperor at the age of 13 years

(D)  Sri Krishnadevaraya captures fortresses Udayagiri, Kondavelli and Kondavidu
(E)  Shivaji captured Torna fort at the age of 16 years

(1) (C), (D), (A), (B), (E) (2)  (B), (A), (C), (D), (E)
(3) (B), (A), (D), (C), (E) (4) None of the above
Or2reis 5005w &8 DB bKrEr Ek0e® KiBoSod.

(A) 0% 23023 §8ots ahogfo, OFH B Frearen SSScko.

(B)  Sogrdg sS3°toger ora3garO.

©) zorenfS Sndrind @$)6 13 Sosdeyore SasHKnS* SESQP tDhBoderrzeesy,
(D) 3% BSoecHen T30 e¢50HAB, §0esHE) S0 Fosds E%rer (EEENEY
(B) 87216 5 des Somy Eesso Rgis D55 ¢o.

(1) (O), (D), (A), (B), (E) 2) (B), (A),(C), (D), (E)
(3) (B), (A), (D), (C), (E) @) 3DsH
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102 Arrange the Planets in the Solar System in
number of moons.

(A) Neptune
(C) Saturn

(B)
(D)

th : ; .
e decreasing order (highest to the lowest) according to their

Mars
Uranus

28 5505 5 T8 B y
it % Soges Ropg ErBor s (DD o SLH) £5306°

0B oCs.

(A) 3@"55 (Neptune)
(C) & S (Saturn)

1) (C),(B), D), (A) ()

The object of depreciation in economics is to

. (1)  Show the previous profit (2) Reduce tax
(3) Calculate net profit (4)  None of the above
egé r‘z!"éoé's SEtHEL ABE); &éa’go .
(1) (5508 ol orefo SrdosSto  (2) Dy (e°§y) BhoiSto
(3) DB eeard) Bocitéo @ 355D
104. The iron pipes we use in our homes to carry water are galvanized with to prevent rusting.
(1) Carbon (2) Helium (3) Zinc (4) Magnesium
e3 HEHoe EELH 05 a«%f;eb" &HBHo KD PN gHYY) DT & Hyes SraHad
(2332 )&0eran .
1) sEy® (2) ardoHo (3) 20§ @) SfynodHo
105. Identify the people who attended World Economic Forum 2023 at Davos, from India.

(A) Eknath Shinde (B) Gautham Adani
(C)  Anil Ambani (D) K. Taraka Rama Rao
(E) Mukesh Ambani (F) Adar Poonawaala
(G) Sanjiv Bajaj
(1)  (A), (B), (C) & (F) only 2) (B), (D), (E) & (F) only
3)  (A), (E), (F) & (G) only (4) Both(2)&(3)
TR & 2300 S0eS esB 30-2023 & grsestido Sk 57233 HBVGoOD thBoSoss.
(A) 5 2o (B) WSS T
© @e‘oé o2 (D) K. @88 0°8r0°)
£,
e RS F) b T

(1) (A),®B), () & (F) e85y
(3)  (A), (E), (F) & (G) Aoes 3y
K-13241-p1 1-ET

(B), (C), (A), D) (3)

(B)  e0orr8ge (Mars)
D) 05.\)3.?65 (Uranus)
(B), (C), (D), (A) )

@) @®B,D)E) &E) Srgd
@ 2&G) Botirdd

P

—

(©), (D), (A), (B)

l'lﬂlﬂllllﬂl
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106. X
Match the following Tournaments with the related game.

Group-I Group-1I
(Tournament cup) (Games)
(a) Durand cup (1) HOCkCy
(b)  Beighton cup (i) Badminton
(¢)  Agarwal cup (iii) Polo
(d) Davis cup (iv) Football
(e) Ezra cup (V) Lawn Tennis
&8 S0B ¢5°8) obyedd °¢38 50230502 éc,‘,e)és 238DES0G.
55-1 froe>-11
(&5 Roo5 £5) (Bcbev)
() 605 &5 @ &%
®) DS i) EEPOOS
©) ebogssd (i) &%
(iv) PSS

d) GEIOED
(e) 8D

@ ® @© @ (e)
1 Gvy @O (i) (i)
2) (@v) @ (@) (v) (i)
3) @) @) (i) (1)
@) () (v O (i) (i)

v) o8 BYD

107. Identify the wrong pair.

(1) Madras Native Association - Gajula Laxminarasu Chetti
(2) Indian Association - Surendranath Benerjee
(3) East India Association - Dadabhai Naoroji
(4) - Bombay Presidency Association - Bala Gangadhar Tilak
%B5v5enS5083 23¢55 (HB0eHA.

(1)  Soged I8 TN — rere oF S8R0 363

(2) PoBoHS eRREHRD — o8ogaed B8

(3) &8 oGS 29RFDADAD _ oeoveron 6%

@) 2o OB WANEND — eworforreb 8§

108. Who is known as ‘Father of Genetics’?
(1) Hippocrates

/ (2) Robert Hooke

(3) Leonardo da Vinci (4)  Gregor Johann Mendel
eaiog 7% DEFSTOAT DEROBS 538 S56?

(1) SanEH) @) oof L8

(3) OBrTE & Ay @) gub SR Svod

e BT 26.A miil
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Str-

109-

110.

111.

112.

113.

114,

~<S4 [ ~woast, =0 T
a or we o= 3 =
P Rcspon% CPartmen: Y OIIEl), SCTn~ 7T URtass m SEs=aNre=2I1 37

‘Bonaigarh range’, known for iron ore is situated in

(1) Bihar (2) Chhattisgarh (3) Odisha (4) Goa
B TR BB oS ‘&5°%r000508 o 'IOE) &) oo
HG56 (2) SEIPG (3) & 4 &=

(1

At the time of electrical short circuit, the current in the circuit

(1) Reduces substantially (2) Does not change
(3) Increases heavily (4) Vary continuously

doB9ES I8 5835 B80S Htir,gES*® (Secso) 308

(1) BeadaSHorr e5foefod (2) Srsk

3) b DS 4) DBosBo SEET €008

Name the first Vijayanagara ruler who bore the imperial title of Maharajadhiraja.

(1) Hari Hara (2) Bukka (3) Hari Hara Il (4)  Virupaksha
Sy GForeOTres’ DEHE (580D 53 D2305H5K5E T DB ?

(1) 056 (2) a0, (3) BokSH;OIE  (4) Do

The DNA full form is

(1) Deoxyribonucleic Acid (2) Deoxyribonucleic Atom

(3) Double Oxyribo Nucleic Acid (4)  Double Oxyribo Nucleic Atom

BASD (DNA) B, 3578 85700

(1) &Rr&BSKErgdE esso @) &BreBsErgds wead

(3) chend esdy0s°® S5og85 essdo (4) e esdBs° L0585 eea0dd

The price of one country currency in terms of other country currency is known as _

(1) Transfer rate (2)  Buyingrate (3) Selling rate (4) Exchange rate
28 B4 880y 56 38 BF £3RY ($6S° S350 Bk DD 290e3D.

1) 2088 &8 2) I8 (3) oIR&Y 4) &G &6

Which one of the following is the correct description of AGNI Missile, which is developed by Defence
Research and Development Organisation (DRDO) ?

(1)  Short range missile (2) Fastest missile

(3) Long range missile (4) None of the above

(DRDO) cregoe S0 B0$ests eofly (AGNI) §063 0802 DB SES 6 ?

(1) Xgeyy Fed §5¢3 (Short range missile) (2) 3t50e830 §0ed (Fastest missile)

B) » 4
R0eie8 §Hed (Long range missile)  (4) ;’3333 sy (None of the above)

T g
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115.

Match the following :
Group-I S
(Texts) (Authors)

(i)  Sarvavarman
(i) Kshemendra
(iii) Somadeva
(iv) Gunadhya

(a) Brahatkathamanjari
(b) Kathasaritsagara
(c) Brahatkatha

(d) Katantra

3 308 DD 2EHEHSD.
-1 tfe-11
(HoddaSaen ) (BSonesen)

(a) aoo)a’s"éém‘&ﬁ)oab (i) %68‘66&.5

(b) Eeedoeyid (i) §Dod

© eSS (i) RFSBS

(d) sreogs (iv) (DEPEIZE

@ @® @© @
1y @ @) @G v
@ G @ @Gv) (3D
(3) (@v) @) @) (@)
4) @) (i) Gv) @)

116. The components of Balance Of Payment (BOP) account are

117

(1)  Current account only (2)  Capital account only

(3) Both (1) & (2) (4) None of the above
23BNy &9 HRv0e5 (BOP) GBws); aerren )

(1) &Botn e Srgad ' (2)  SarexssS grae SseegdH
(3) (1) 5805 (2) Bocés 4) 35D

Which one of the following statements about Allauddin Khilji military reforms is not correct ?
(1)  Soldiers were directly recruited by the Ariz-i-mamalik
(2)  Introduced ‘dagh’ (branding of horses) and ‘Chehra’ (descriptive role of soldiers)
(3) A separate and permanent army for the defense of the north-west frontier.
(4)  Created a separate army for the expansion of his kingdom towards South India.
&2 §08 HS5S5B00S° eSS HH B, PIE H0),BEaSNLLH Boexofod KO S°AB DB ?
(1) e05-9-55708 wegoe 2D HetgEorr DoHA0SIBD.
(2 gred Sngd Sabhe(@rh) $ba PO BwE), STod BOD HRES (Bror) B
DGR 230058,
(3)  &°0aSg Froes (North-west) SgeatH DBERS T DAL 12x0B AAHASIGT.
(4) 530 erestido I €65 Tr2°gR) DRSS é@sé@é ?@mg&)& 5058 BoHEo 230008,

’ -P11-ET % |
K-13241-P1 28-A . T
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Method is used to identify the larger distances Jike earth to other planet
other planet.

118.

(1)  Parallax method (2)  Range of length
3) Fundamental or base units (4)  None of th o
. of the above
2 K00 38 0 eroed S
255, o gs5e0 eroed udrores) (Large Distances) £enSerd8 &OBeH0w DEB
@903 . )
o, R
(1) BHHROES5GS @ rape gy

(3) FEE Bor oo JBrETTe @) 355

Identify the importance of the Janani Suraksha Yojana (JSY), a scheme of Government of India

119.
Reducing maternal and neo natal mortality

¢y
(2) Giving security protection to Women
(3) Giving Education to Women

(4)  Giving employment to Women
a8 HaHesgo HEEo 2359 X06E @BesS (JSY) G, Sooag &30 ©

(1) S8 805 3 Kbl SHoche
2) R FEE® Bges EOHoHe
(3) ée)si) g B oBoHed

) &oé G0 LS ebHseFTe

What is the title of Indian Health Ministry ?

120.
Ministry of health and child welfare

)
(2) Ministry of health and family welfare
(3) Ministry of home and family welfare

(4)  Ministry of home and child welfare
&3 808 a7ve3 gBes esbiiig SoBesg R BN, Y DK HGocSocs.

(1) DY e 3 @l B 38)6

2) WA 8 3G wols ;3°5&b® 3635
3) I BH T w0k rgd IF0
4) DY 65 S wol IS 356

121. i i i Wallh Kad an
Which of the followmg sport 18 related to the playel by name Sat)a ly ’
(4) WTCS[“ug

S 1) Kabaddi (2) Boxing (3)  Cricket
«(ole)igéf é:o&s 3 98T &3 808 306365° ) 960t D0200H0DN &3°¢?
@4 @ evavh 3) 86 ) 0gob
K-13241-p11-ET T it //||]|/|’l|'|‘|‘||»||"
29-A
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o

122,

123.

124.

125,

—r 1] v R T T —
LANSPOM Dienartmant and Prshit: “i3 {Maje) / wr- -

The oath or affirmation by Indian President will be in the presence of
(2) Prime Minister of India

(1)  Out going President
Vice-President of India

(3)  Chief Justice of India 4)

&S To9HA Hires RSB0 B0 550goes® 238tHE0B?

(1) HED S0HoDS TIHS (2) POS JErHeB
&S GHOGIHB

(3) a6 Do 8% Hud TrgoHard 4)

Which of the following statements is not correct about Buddhism ?
(1)  Buddhist birth stories called jatakas, which form part of Abhidamma Pitaka.

(2) According to Buddhist jatakas, the Buddha was Porn 551 times.
(3)  The early Buddhist literature was written 1n .‘Pah’ language.
(4)  Vinaya pitaka deals with the rules of Buddhist sangha.

&3 808 soe3e5® I Cg 26508 HooHod FYs SN AV éét‘f)cﬁm NI Y4
(1) 2060 HENED $020G0DS aess Sthen DEKY HBEINS® FrothHBSIGToN.

(2) BYerssLso 5°80 2¢hed 551 o> 2303
(3) &0 B Fresgin ‘P’ grRS” Frodadsron.
@) D50H HEES, B B0 AOHBTSPE” Sgi500:5echrs.

Identify the persons who worked as Chief of Airforce staff who belongs Telangana State.

(1)  Air Chief Marshal Idris Hasan Latif

(2)  Air Chief Marshal Lakshman Madhav Katre

(3)  Air Chief Marshal Pratap Chandra lal

(4)  Air Chief Marshal Vivek Ram Choudari

g0 TPOSHRS Sy BB (DD 6d Jonbhy Fo) m° B BAS Beorres $58 HBoS0E .
(1) Dob AP 58S 9BS TS 0hDH

2)  dowdHH S8 065 Sre5S §8

(3)  dowb DS a&svgé PSR Sog§ ey

@) 006 DS $r8E DIE oo 456

Who discovered the First rock paintings in India at Sohagighat in 1867-68?

(1) V.S. Wakankar (2) Archibold Carlleyle
(3) H.D. Sankalia (4)  Arun Sonakia

:7;5:?0563 REEOERS FroesiSans® §.4.1867-68 SoSSBENS® DneTtes T8 dgroH N
8?

(1) DD, Jese0Lh (2) 8,8 58S
(3) IPN.E. Dosedasy (4) @5 dTr8adh
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126.

127.

128.

129.

130.

& 131,

Which of the following state in India won UN-
programme ?
(1) Odisha (2)  Telangana () Tamil Nadu (4)  Punjab

o & 4 " =
2023 & PoSEYEBNES® aESBFoSV O TR)° BT A" (JAGA Mission) He58o UN-GeDexS, $5S
GeDerts 953080 GencHHod ?

(1) 26 (2) SBoorres (3)  SDFos @) Hoersd

Habitat, World Habitat Awards 2023 for JAGA Mission

Which of the following is not an Artificial Intelligence based Chatbot?

(1) MobileMonkey  (2) Netomi (3) ChatGPT @) Wireshaik
&3 300 ToB3S° DB KB DESBND $0220H0D weierd 5ot ?

(1) BoPES0E () I8 (3)  aneSeede 4) barE),
The Rocks that contain fossils are )

(1) Igneous Rocks (2)  Plutonic Rocks

(3) Metamorphic Rocks (4)  Sedimentary Rocks

Zerarerd §O0 &R) e :

(1) eof)sHodH Feen (2)  Hreeds Feen

(3) Graroess Boen (4) N5HBeen

Which state has started a campaign to ensure purity of milk and dairy production as “Pure for Sure” ?
(1)  Gujarat (2) Bihar (3) Telangana (4) Rajasthan
S ooggo dren B0k e e BN, VS AgeBoisERd “Sygh H6 &rgh” @ Hardo

FrBoDood ?
(1) Hesoed 2) D56 (3) SBeorrs 4) maa‘g"s

Name of Bahamani ruler, whose death anniversary (URS) is celebrated every year by the Hindus as well as

Muslims of Bidar town.

(1)  Firoz Shah (2) Muhammad Shah I

(3) Ahmad Shah wali (4) ~Humayun .
D TV Toer B, $godD, HEE & BodS Srothpen L0005 Swaven SO

BHYHK0eS ?

&0y

(1) &S ap (2) B0se3 HoSedpd
) eorind 56 4)  SOSPOHTS
?II;DO Associ'ated Laser Science and Technology Centre is located at -
DRDOM;:;:ZZ o Kolka (3) Delhi Ll
S 00D 8236 1) wo& Ssryedowd &% &od.

oz 2 Sepen 3 &9 @) 2%

il W B "’n|III|II|\|||“
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132. Mount Merapi is an example of

(1) Block Mountains (2)  Volcanic Mountains

(3)  Fold Mountains (4)  Residual Mountains

Boord B350 & elSeEeD.
(1) woté Hgeo @ SRSk

(B)  Snches HEgeo (4)  ©53Q Beigeso

133. Who among the following received the 2023 International Prize in Statistics that is equivalent to the N

Prize in Statistics in the year 2023 ?
(1) Calyampudi Radhakrishna Rao (2) Nan Laird
(3) Neena Gupta (4) Br adley Efron

& ol 5708° SBS HERYTNE SHrSDS osg B (Seavosee HSA™,Go (International Pri;
Statistics) 2023 Sox5e5)50e5° 0B 55°0R) H80cSod .

(1) Seogodrd omrg)D oo 2) ~>388

(B)  dae by (4) 2GS

134. ‘Bison’ National park is situated in

(1) Madhya Pradesh (2) Tripura (3) West Bengal (4)  Manipur

BS "ar B0 S5530e8 o005t Sogo SLERH) ToRgo

(1 S
) sy HBE 2) &% (B) N Borrs  (4)  DHedhyE

135. How
Mmany chromogome pairs are there in a human cell?

QeSS Eeaoest DY 8RS, 2ebeyy T 00?

() 3
@ 13 3) 23 @) 33

K-13241-P11.FT  ————
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136. Match the following Ministry’s with their Schemes:

137.

Group-I Group-IT
(Ministry) (Schemes)
(a) ~Ministry of MSME (i) The Pradhan Mantri Gram Sadak Yojana (PMGSY)
(b)  Ministry of Tribal Affairs (if)  Atma Nirbhar Bharat
(c) Ministry of Rural Development - (iii) Khadi Gramodyog Vikas Yojana (KGVY)
(d Ministry of Finance Yojana (iv) POSHAN Abhiyaan
(e) Ministry of Women and Child Development (v) ~ Pradhan Mantri Jan Dhan
So0Besg PO 5783 HES LD BESG0G.
s o1
(20805 = o) (Dessren)
BT Hr08 Tra HeE Breesss

A, D) & 0655 SO H0E500 SoBesg 7 @

(a)
(i) e IGE &S

(b) ar8es HaHesgo Qjaoé ARt
© TTDHD SDoBES TP (iii) PrOPIr&gH DseR Brea3d
(d) 0¥ S0BE3 TR (iv) 45 (POSHAN) @ased
() & Boso B IS So0BeEg 7R V) e So@ BSES

@ M @© @ @©
() Gi) (v G @@ (v
@) @i @@ (v @ v
(@) @) G G (v (@{v)
@ Gi) @v) @) (v) (@)

The process of separating fibres and seeds from cotton is called
(1) Spinning (2)  Ginning (3) Weaving (4)  Knitting

08 seahHer Srod DED 50005 Aozsersy sy B R ot
@
@ 2
) Aok (2) =0 3) dAoh () dgoh

AN T——
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138.

139.

140.

Match the following Book Titles with their Authors :
Group-I Group-1I
(Authors) (Book Tlt_le) _ _
(@)  Arundhati Roy (i)  Constructive Parliamenterian
(b)  Kushwant Singh (ii) Mera.DeSh Badal Raha Hai
(c) Habib Ahmed (iii) Aza.dl : Freefiom
(d) APJ Abdul Kalam (iv) Tran ;)c;Pales;an —_
(e)  Atal Bihari Vajpayee (v) Meralyar a Bhara Je
&3 800 oe36° HHgsre Sonde esgrdor™ o8 5558 2385 eSH0.
t5o8-1 groi>-11
(BeSaneser ) (BeSSen)
(@) %o ordd @) 5'35,367,%5 @ga)offﬁ-:o'fos
() €50 bob i) o BT S 65 E

i) @8 : Yo
(iv) B9 & JEPS
oo egoe 285 Ba

(c) DS esa’svéé

d) D22, 20 ersd

(6) @&y G5B aadyow )
(@ (M) (@ @ (e

(1) @ii) @v) @) (v @

(2) Gii) @) @Gv) v) @

3) (i) @) (v) (@Gv) @)

4) i) @Gv) (v) @) (@

In India, The executive power of the state shall be vestedin___
Chief Minister ~ (3) Prime Minister  (4)

(1) President (2)
2o 8e5B3F0e5® U‘é})o BE), 965«06‘35’5"&'8 HSPoTen NS0 e38S0e5° &otsean ?
(1) oS8 (2)  Swggsoo@ 3) SEded 4)
Match the following Chola rulers with their titles.
Group-I Group-II
(Rulers) (Titles)
(a)  Vijayalaya (i)  Rajakesari
(b) Parantaka (i) Madurai konda
Eg; }Szu{]dzgf Cél;]ol]a Aralamouli (i) Kadaram gonda
ajendra Chola (iv) Raia Raja
& 808 S Teredy 308 Didrthreres® ase:é&’odnjﬁo&’m.
o8- E,
tioeay-11
(oFeren) (Dten)
(@)  Ddesafrerasy ; o
o (l) U"aﬁgr\)a
(b)  SHoroess (i) So%3 ok
©  Hokss’ Sy
¥ (ifi) S0 Focs

(d) U‘éog %

@ b @©
() @ (i) (iv) ((iii))

(iv) ores oves

@) ) @D Gy
) @ G (i) ((llil))
(4) @) (@(v) () (iii)

e

Governor

5565

K-13241-P11-ET
34-A
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141.

142.

143.

144.

145.

146.

In which year Salar Jung Museum was started ?

) ;()oéé‘bdoé’s Arerh 230h H505°52B0HN FeoBocseaGod?

(1) 1948 (2) 1949 (3) 1950 4 1951

A, B, C, D, E, Fare merrfbers of a family. A is the father of F ; E is the daughter of C; D is the husband of
B ; C is the wife of F ; B is the daughter of A ; Then D is related to E as :

(1) Father (2) Grandfather (3) Uncle (4) Brother-in-law

A, B. C, D, E, F e 28 $02306" Safgen. F @t o A. C B0 553 E. B G308, 25§ D. F B308),

gtgC. A B, £355°3 B. @00 E 8 D &° e Ho23050 :

(2) & (3) & A5G @) 2375 /2370008

(1) o

In which year «Nethannaku Cheyutha” scheme started by Government of Telangana v
“ By Bosares "DEEo Borred $5206830 g & DoDSYBEHNS® rEoocsertsod 7

(1) 2015 (2) 2016 (3) 2017 (4) 2018
Choose a term from the alternatives given below, which bears the same relationship with the fourth term as
the relationship that the first two terms bear.

8ots BRYS 0e5E Botk Hore HEY SePo

& Hoeotso &0l a9e7o083 DoIOGIPRY) ACYD S50 EOHS

SR PSR ok E508° 0.
HJL:0QS: ? :IKM
() LNP (20 NPR 3) LJH 4) MOQ

Movie won the ONYKO FILMS Award in March, 2023 in which of the following categories?

“BALAGAM”
(1)  Best Director Feature Film (2) ~ Best Documentary Feature Film
(3) Best Drama Feature Film (4) Best Dialogues Feature Film

S8y, 2023 &% 2,08° DODY e)srg)ee?s “o3e3t80” DAKTE D Dezet§oes® HB=Y G0 ool ?
(1)  &esd S SesDes Deyetio (2) &8 G“éagauoeaé Sed5es Dgyto
(3) esedd Teero SexdDes Deyetio 4)  &essd HoarRes oSS egetio

Which Chief Justice of India became the acting President of India ?

(1) Justice H.J. Kania
(2)  Justice Mohammad Hidayatullah
(3) Justice A.N. Ray

(4) Justice Hans Raj Khanna
& 808 T°8°, BB TIE SEYOE TPYNBT £50000DS 2PBESERE SN

(1) 230 3rS.8. 570

2) 230 SsEys SrorohHeher
() 2RV DD, 3

4)  2¥0Hood N

rgasosarg 5P ?

T

K-13241-P11-ET == 1
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147. 3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative Whigy,
' does not belong to that group.

805 RS Trenth BEFINATOS Sareeky LA OSoeny 2,8 N8R S5gosS® Kozl €6 &otie
;o 2,8 BBrPor DEEEOD. Ha DBTEIE Bok é@gérg_oﬁsvb& E508%06.

(1) Bear (2) Lion (3)  Jackal | (4) Tiger
148. Who is the First Chief Justice of Telangana High Court ?

(1) TB. Radhakrishna (2)  A.Venkata Shesha Saj

(3) CH. Praveen Kumar (4)  None of the above

Beorres P 300e5ed ST rgaHBre K80l | .

(1) TB.oorgl (2) A Jo8e 35 vom g'

(3) CH. $e5 H8»E @) 23D s

149. 8 persons E,,N,0,Q, S, T and U are sitting one each at each side of an octagonal dining table facing the
centre of the table. I s third to the right of E and second to the left of N. U is third to the left of T and secong

to the right of N. S is not between of I and N. Q is diagonally opposite to T. Then the person who is third (o
the right of S is :

©RNHB BHBSOK) 28 2@0h Sad Bw), SogrR8 eddngore E, 1, N, 0, Q, S, T S805» U a3
8 ool SgHen a8YHG 288 aheso DY ErENTNG. T @I Sg8 E & DEIDS BoreeESaesy mdy
B N & SERTS 3ot s &ond. U of 558 T 8 SE$H30S Srsams mks

20008 N & SETS Botéiaress i ey, 1 50060 N © o6 S Beko. T & D60 Boesd Sorn )
. BT, WoNB S O HA IS SueeESarcm € 598

D Q ) U 3 I @ O

150. Which of the following are ideas that few people have about masculinity and femininity?
(1) Gender Stereotypes

(2) Intellectual Ethics
(3)  Morality
(4) Gender Sensitivity

RDDRET0 £90a% §eigo 602 Soes 5906 Bghen K oty eSS & 808 BS® HoS0d.
(1) OotfiHBIS NORS Srd2e ©DJrafHo (Gender Stereotypes)

(2) DEFIBES (Intellectual Ethics)

(3) SBES (Morality)

(4)  Ooff LoReseszo (Gender Sensitivity)

K-13241-P11-ET 36-A L
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151, Match the following Organizations with the places of their Head Quarters.

(@) UNICEF @ Rome
(b)  ILO (International Labour Organization) (i) New York

(c)  FAO (Food and Agricultural Organization) (iii) Gene\.ra
(d) World Bank (iv) Washington D.C.

& 808 TS Bogosy, T B KT SPOrgROSTeR) HBFOSE® 23e5HEHHBN.

(a) UNICEF i &
(b) ILO (International Labour Organization) Gi) Sregosey
i) 2O

(c) FAO (Food and Agricultural Organization)

(d) World Bank

(1) (a)-ii), (b)-(iii), (©)-(), (d)-(iv)
@) (a)(ii), (b)-(iv), (©)-(Gid), (d)-(1)
3)  (a)-ii), (b)-(iD), (©)-(iv), (@)-(D)
@) (a)-(ii), (b)-(iv), (c)-(i), (d)-(i)

Gv) SR0HES &.D.

152. Who among the following Leaders of Telangana is known as «Telangana Bhagath Singh” ?

(1)  Sri Komaram Bheem (2)  Sri Anabheri Prabhakar
(3)  Sri Kaloji Narayana Rao (4)  Prof. Jayashankar
& 308 °88° “Beorrea 2556 2306” T tHB0%) APoBD FeAHEE BB ?
(1) §&sn8o o (2) B30 s
(3) 8 5°6%8 roraHEaTd) @) &radb es0$H¥08d

153. Who was the Cﬁairmari of the Linguistic Provinces Commission ?
(1)  Shri Rajendra Prasad (2) Pandit Jawaharlal Nehru
(3)  Shri S.K. Dhar (4) ~ Sir John Simon
orap HOSHOE Toar9e S8 BES HSE?
(1) B oediod H3°6 2) HodS aarberd ITe
(3) B0.8.506 4) Sbers 3_)5.)5

154. Which of the following is considered as an alternative to moral principles ?

(1) Real Ethics (2) Logic Ethics
(3) Virtue Etl:ics (4) Computer Ethics
&3 808 T3S A FBE SrgroH Hargsyahorr HOtiEdocserdod ?
(1) D238 A (Real Ethics) (2) &8, A& (Logic Ethics)
(3) &8 & (Virtue Ethics) (4)  Eodirgesb A& (Computer Ethics)
155. iclic)annflyn:jhi; country with t:ne highest Gross Domestic Product (GDP) among Asian Countries, in the year 2022.
2)  China (3) Japan 4 :
2022 J05e5y5065° esdasres® & “ - () ESoath Ko
- : TOS® DS Qv BROSH &)@ (GDP) 8005 37°9) $HBocS0s -
2 B 3) 2> (4) 5§eo 5605

K-13241-P11-
X o 374 T
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156. Identify the Poet who was conferred by Padma Vibhushan Award in 1992.

(1) Dr. Andesri (2) Dr.C. Narayana Reddy

(3)  Kaloji Narayana Rao (4) Dasarathi Krishnamacharyulu
1992 Bo5ey5065° SEQDEPRES A Bo ot SDD HBoS0d.

(1) = ©33 2) @.d. So°aHeadd

Q) =8 oeaheaoes @) ISR §HSrardigen

157. 1f ‘EDIT’ is coded as “7182322’, then in the same way ‘FILM’ is coded as :
‘EDIT” &0 7182322’ m 86 63‘_’;3, 23 desorr ‘FILM’ Bng), 56
(1) 21141815 @) 14151821 (3) 15181421 (4) 15142118

158. Ina certain code, ‘SMILE’ is written as ‘@5*7%’, ‘DOUBT’ is written as ‘&? T 8# and ‘NOTARY" is writtey
as ‘$3#2 A9, then , in the same way the word ‘REASON” is written as : DL oL@ 3 P

28 D8 8%, ‘SMILE’ & ‘@5*7%" 9, ‘DOUBT’ & ‘&3 T 8#’ e &8s ‘NOTARY’ D ‘$3H2AY
Q) TR, ©3 Do ‘REASON’ 93 Hred) TR SIB :
(1) A%23@$ 2) 2%3A$@ (B) A%2@$3 @) A%2@3$

159. Who designed Telangana State Police Emblem (logo) ?

(1) Thota Vaikuntam (2) Surya Prakash & Aj
(3) G. Ravinder Reddy (4) - Laxman Aelay L. \-'-‘
Boorrer Ty A Do B, ErHEE S5 ? A o

== X
(1) &% 3%Hoo 2) oy OsR tL;J ()
(3) G.8dots6 3% 4) ofEd 3

160. Pointing towards a man, a woman said ‘He is the son of my father’s sister’s daughter’. How is the man related
to that women?

(1) nephew (2) cousin
(3) brother-in-law (4) grandson
28 HEA LSRRI, 20 ’3, ‘e T S0 B, SO GIng), H35°3 BwsE), LHATEE’ SIN\AR @and
es ggé &3 BRI NSFoeBocss?
(1) REBE HB™EE (2) =88
(3) erd/erhsn88 4) oSN

161. Which of the following is the ability to look at and understand a situation or concept from an alternate poin!

of view?

(1) Independent Aspect (2)  Social Awareness

(3)  Technical training (4) Perspective

2:8 HBJA Sor &3 QEFH8 0% §%3065° SISO QR & §0d 03 HBocSod.
(1) geogs @odo (2)  Adrss wSTEGRS
(3) oSS es @) & S%0
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162,

163.

164.

165.

e m s mamAs R ANFAN N ALNL R mmmm om QN Mmoo =

Ethics is the study of what is right or wrong in .

(I) " Human Conduct (2) Philosophical Conduct
(3)  Moral Conduct (4) Logical Conduct

N8 w0 30 &S° DB HORSE S S ©F T WEEFoHD0-
(1) B85 HIES (2) &8E IS

() IBELBES (4) &8 {NBS

i ood and evil, right and
Ethics seeks to resolve questions of human by defining concepts such as g
wrong, virtue and vice, justice and crime. “ e

(1)  Philosophy (2)  Psychology (3) Loyalty e S
BBggo Sod: Beb, Sy, BB Y, o SO BOD, FTHID HoBoso o &0

DED0D SHH Eogoe SE3D 0% BocSES HODEYPOD.

(1)  eesgwgo @) SodResgEHe  (3) RIS @ 858

i ip wi i as the
Choose a term from the alternatives given below, which bears the same relationship with the third term
relationship that the first two terms bear. B
8oc5 BN IncsE3 otk Hrre Sotsy Neroed Sozxoso ol werotd Ho20GrRY) D5°Ce HSoeS® EAHS

HeeR) pQYseR Hod EEYod.
D S <~
EQPSOLIXN : EXPLOSION : : HEARTBEAT: — _— .
(1) HEERTBAAT (2) HAERTBAET (3) HAABTREET (4) HAABRTEET
wAsETRET
Answer the following question using the symbols given below.
‘A%B’ means ‘multiply A and B’
‘A@B’ means ‘add B and A’
‘A#2’ means ‘square of A’
‘A*B’ means ‘divide A by B,
The sum of the area of a square of side 5 units and the area of a circle of radius 5 units is
8o HH Sots RGRIES HEHeR &HRAAD HXGTHSN0HNY.
‘A%B’ @063 ‘A 538050 B e thHedocsrtn’
‘A@B’ @0€ ‘A & B Q £ocddny’
A2’ @08 ‘A Bug), S8’
"A*B’ @063 ‘B B A  gBocSHdny’
;i;’; ‘?‘3‘»’ s (o Sekoibo G, Frrergiios 560 5 AP o o> Syefo G, FFOSI

(1) 5#2%2@7%5#
3)  5%2@24785 2) 542@22*%7%5#2

(4) 5#2@22%7*5#2
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\ LI
o SC g Number from the
A8 the re

. . alternatives given below, which bears the same relationship with the third num,,
tionship (hay the

805 first two terms bear.
0 [V
iy S Jnoeses Bocd Kogges 0655 deroe $oerotso &0’ everots $0230GR) S35 DowgS® KO
'\30&)3& m‘:bs"&) Qo 5505660&,
6: 15: 135 2
()55 @ o (3) 143 @ 7
. : i f India ?
167 . How many members can be nominated to Rajya Sabha by using His/Her powers of President of Indi i
o 05.)62) {
P OE THHOB S5 wHSTOD SHBPOD Joes K0 Bahess Tregde dasrso 3
() 10 ) 11 3) 12 4) 13
t
168. The “Padya Shasanam” which contributed to the ancient status of Telugu language was found a
(1) Bommalamma gutta (2) Thousand Pillars temple
(3)  Phanigiri (4)  Khilla Ghanpur
Beth g PO S50 oSS Beeso B “Hisg FH080” DKt ©DoDod?
(1)  &Spesy the (2) Sowg Jozre tHé
(3) e300 ‘ ).« D oo

169. Which organization is planning to start larger floating Solar Power Plant in Telangana ?

170. If ‘student’ is called “teacher’, ‘teacher is called ‘principal’, ‘board’

(1) NTPC (2) .BHEL (3) Adani Power (4) None of the above
D DoY) OBDEHD BHASTE Aferd HXE SoéS (Solar Power Plant) & Seorreaes® rtoocsiSood ?
[«3) Q (3]

(1) 8.8, (2) DIPES. (3)  eord) H3E 4) 23D 52D

is called ‘chalk’, ‘bench desk’ is called
‘house’. Then in this code which of the following options is wrong?

(1) Principal teaches the lessons.
(2)  Teachers sit on the tables.
(3)  Every house has a chalk.
(4)  Principal issues transfer certificates to teachers.
‘D' ‘GIERgofuck’ e@d, ‘BIGGANGD ‘DS
B’ ‘B’ d), ‘S5t5@d B’ O 1O, & 5%,
(1) SoTarErgatne aroves SR,
(2 ermrgoioes Saner ST
3) 5B R0BS° T8 &otnod,

(4)  Garpgoined SovSrmrgahu: 288 B35 238 B,

‘table’, ‘class’ is called

TN’ @), ‘S’ ‘oE @d, ‘Bod
808 aes® ST 0DEHH?
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. is a soci 2
171 social system where men are considered superior and more powerfu] than women.

(1) Hierarchy (2) Patriarchy
(3) Matriarchy (4)  Anarchy
s eSsEs SFBPS® Yo KoeS Hthxen GBS S8t FHodoanr HBHBEIoSEE .
(1) BedgSoo (Hierar chy) (2)  De&RegSogo (Patriarchy)
(3)  Seydegsoge (Matriar chy) (4) esoesEo (Anarchy)

Which Wing of Indian Armed Force signed Memorandum of Understanding (MOU) with IIT Madras for

172.
Technology development ?
(1) Indian Air Force (2) Indian Coast Guard
(@) Indan y (4) Indian Navy

e Besead BEEd 55 &% & Jeetsdn NT Hgrne® edmrsr® 2syotso (MOU) roERE D[R OO

Hoebsren Brod ?
258 53005 DD (2) 2w8es DAV HS Bges B5Fo
(4) 28t Jse (5¥o

1)
(3) v PIgo

173. What comes in the blank place in the following letter series 7
8005 BBYRIGS WL Fe365° gD JdoS, A Hpod ?
o o Ve A ® " em ¢ 'R
BGDE, ‘QHE,Q,I:;‘JGI, GLIK, KPMO,

(1) FKHJ e ‘(2)\%“MROQ (3) LQNP (4) NSPR

174. Which Sportsperson was given the “Sportsperson of the year Award” for the year 2017 by the Telangana

Sports, Journalists Annual Awards Forum ?

(1) P.V. Sindhu (2) Sania Mirza

2017 HoHesyBoes® 2360 SO NGy BHOY
a &5 RoH5 Yewsedd oo ?

1) 2.9 206 @) dcrg () DEd o @) 2IDD

(3) Mithali Raj (4) None of the above
7508 TGOS’ D Sresetincsy/Etese0ed 8“0 ) HEYS

175. Social awareness is a form of

(1) Artificial Intelligence

(2) Human Intelligence

(3)  Virtual Intelligence (4) Emotional Intelligence
AeoeesE eSS GBE), E3do
(1) §B5 65y @) SS Doesdy
(3)  BEPSS (eas5e230e8) G5 @) SR Does
K-13241-P11-ET nA g
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176.

177.

178.

179.

180.

181.

As per the histori =
(1 Kotilingala . harmapuri & Vemul

50¢8 5P B 3¢ 5080008 BS*Bo Berorreaes® @ém@mlgsgz cvzsgv):) b‘;azapatnam
(1) EB8Oore 2) GG 3)  Sdwesed @) w;&g)&&o

eries is given with a missing word. Choose the correct option that will complete the series

A word §

RS A) 5506 o) 2u8 DA 3e3 7N0IEID. Fe3D Sordo B HOBS 0D)SY) docHEod
Bag, Book, Bench, Pencil, . | B |
(1) Class (2)  Eraser (3) Teacher (4) Student

In which century 1000 Pillars Temple was built by Kakatiya Kings ?

(1) 12 Century (2) 13" Century (3) 11" Century (4) 14" Century

5% Sow c‘goa}“e)d)&, seEHOSH Trare TRo° Afocsercod?

 deryo
1355 de~gdo 3) 1185 d&revo 4) 1455 #&r2o

(1) 1285 de°yo (2)

o of the students who passed in an examination to those who failed in it is 7:2. Among the

In a class, the rati
ank of B'is 28 from the bottom. If all the students of

passed students, the rank of A is 23 from the top and the r.
the class appeared for the examination and the rank of B is 6 ranks below the rank of A then the number of

students in the class is :

2.8 SS5HBSE, 28 H68S° &
35 Koo A B0, orgoh 23 Lo &
£5623388 S08AK0 A &), Tg o3 6 orgotHe BHHS
(1) 56 (2) 84 3) 72 4)

rm from the alternatives given below, which bears the same relationship with the third term as the

585 durgheod” eiand 08 e DB 7:2. &BEBS Do’ efEgs
&S0 S00% B B, 0300 28. SEEBS® Durgoeos® HBEH
5 B 0°g0% €083, S565BS Durghe Ko

81

Choose a te

relationship that the first two terms bear.
:: Fathometer :

Sphygmomanometer : Blood pressure ;
(1) Earthquake (2) Electric Voltage

(3) Depth of Sea (4) Intensity of sound
8odS EEANN R30¢563 Bocd Hore SHEg Serroed Hozdoio ol @erotd Ho20GrR)) S

£S5 HeSoeS® OO

HERY) NSO Bo06 880G,
2 S5oSP0e0b : BED%ED 1 oS0 : ;
(1) gbrgoren @) oy g

(3) DD S @) &3 BoE), BES
«DHRUVA?” Portal Belongs to Telangana Government?

Which of the following is related to

(1) Land Registration £A2) Passport Verification
(3)  Online Employment (4) Human Trafficking
Berorres PEHEIVE $H0250500S “Cée)a’) ”ds‘ges- B8 HozwoHodod?

(1) abeswe 828990 (Land Registration)
(2) &0 ] 308X (Passport Verification)
(3) @S88 o)og‘abaooeg (Online Employment)
(4) B35S gl 8aee (Human Trafficking)
M

42-A
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182. Every year, on which day, “‘Kargil Vijay Diwas” is celebrated in India ?

(1) 13" June (2) 26" July (3) 13" August (4) 26" September
a) 237 13 (2) =826 (3) esti%o 13 (4) ob 26

183. Which language was officially used during Satavahana Kings Period ?

(1)  Sanskrit (2)  Prakrit (3) Hindi (4) Telugu
bl Tere 5°008° o B RS BET &HORTABETED?
(1) Sodyyo 2 S (3) rob @) Beotd

184, With which Multi N ational Company, Telangana Government signed a Memorandum of Understanding
(MoU) for Digital Telangana ?

(1) Amazon (2)  Microsoft (3) Facebook 4) (ioogle

S oesorBoH éoéess Beorres Pasesto 238365 Beryorres 5B IIN0CoESD €96 @ocﬁgg‘o&oﬁ (MoU)
BHoed ?

(1)  eoRerS 2) DEXP (3) HHens 4) Bt

185. Which one of the following diagrams best depicts the relationship between irrational numbers, integers and
rational numbers ? .

808 DEOS® DB LBEIADH Somgen, Hrgrosren HHB0SH BEEEI0H Dogge $HEg N0 eseddom
38008 ?

L00
v D .

None of the above / (23 s°%)

186. 3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative which
does not belong to that group.
8088 RS Srenth Yergiryalred® Kar Hergimosren e N8 H5°808° Ko2rorre) EOH éotstio
5 2.8 DV YEE™oN. &5 DB Bot HEPFRIPAETRY L8 0.
(1) Cube (50:50) (2)  Parallelogram (H35c0e88 ééod)?)aso)
(3)  Rhombus (om0208) (4)  Rectangle (88 <5e53630)
187. The total number of triangles in the figure given below.
S0 98geIES B0 Bwedo Beheres Sogg.
;\\
() 10
2
(3) 18 24; ;\]60% of the above / (238
e above / ( 5o
K-13241-P11-ET B
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1 act.
188, refer to the ability to guide others' cmonon:s .andst:'e“\:ay they ac
(1) Communication Skills 2) SCoglx;tnsv‘fmsx s
(3)  Technical Skills (4) Socia e, ok, aneiy
4 X)) $d5edQ330 g
BEE S350 grhgmess S0k > Sg5iroel HRY SrERZ
o830,

@) 5B )

) E805°g808 2y &
(1) SRS YO - g

() BYSS S

. . . r)
189. What should come in the blank plac? in the‘,follg\:mg series
Socs '678532.)%«‘6 3e3e5°® gi:{_) Q":‘SOESG <°3:b 53008 ? 4
CXI15EV,FU48HS,IR9KP,LO168NM, )

NK237ML (3 RU255ST 4 MQ273LM

(1) OL255QJ (2

- . t)
Identify the name of the Governor who inaugurated the Kaleshwaram project in Telangana ?

190. RREEE _
i (2) Tamil Sai Soundararajan
8,)) Sg'lﬁv]:éamhan (4)  None of the above O
.l"
5°84500 @8 % oS HEySo BSOS Beorres (FSEHE G (bgozﬁo&.s
(1) E.S.L 362058 (2) S Jow FrodiEoes
3) ND &=~8 @) 23 5%H
191. What comes in the blank place in the number series given below ?
8o¢ 259G Kogreg Fe3S° g S0’ D 5008 ?
g g,ﬂ Ny 3 3
W 11,22, 46, 90, 160,
"\
(1§0<33“5§‘» ) 295 (3) 240 @) 330
192. _ is/are defined as subjective responses to experiences in our living environment?
(1) Intelligence (2) Emotions (3)  Cultural (4)  Philosophy
2085 B35 @S G065 @bozSer (subjective) SBYoSSen DEgRrousaigeom.
M o080 oSGgre () sagyss (1) eags

193. 3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative which
does not belong to that group.

$0t5 NS renth LEEN ST Sareesy QE°gA e 2 VPR L3°Goes® HozogrR) KO dotito
g 28 SSorirom D\EEman. € SRar508 3ok SEFETmOErR) K989 0.

194. In a certain code , ‘na ja ba’ means ‘so

28 «0§%€5 8% és na ja ba’ 063 ‘some good people’, ‘ba sa ya’ @0o€3 ‘many good men’ 805w ‘ra sa ja’ &0l
‘some bad men’. @ae &; &5 (- ‘many bad people’ Gwg) §%.
(I) ranasa (2 yarasa (3) nabaya (4) naraya

e e e
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195. P 15 P2, P3.. P4, Ps, Pg, P7 are seven different houses situated :
(i)  P2is 6 m. away from P, in the South of P, ed as described below.

(i) Psis 15 m. away from P in the East of P,

Gii) Psis 65/2m. away from P in the North-East of P

(iv) Psis 14 m.away from P4 in the East of P, o

) Ps is 6 m. away from Ps in the North of Ps..

(vi) Pris 27 m. away from Ps in the West of Ps.

Then the shortest distance (in mts) between P; and P; is :

p,. Ps, Ps, Ps, Ps, P, P70 2365 DDHJ @y §ocs DEB0DS Desor™ &

p, & ¢5§eaom™ P 8008 6 ey SseBoes® P:&o& ) e

(1)
i) P2 & b)) BFS® P, 808 15 e 55°80e5° P; &s08.
(iii) Ps & &aedgoT Ps Sood 632 Y E55o80e5° Py e508.
(iv) Ps & gﬁ)“d‘b &r%’é‘ P4 S0 14 :l)e.)g 5508065° Ps &508.
(v) Ps & &e_:ééon" Ps -530& 6 2)5639 &'60956 Ps &508).
(vi) Ps® St S8 BFS® Ps oot 27 Doerts B53°6oeS® P; &500.
@o_).)é P7 Sy8as0 P © 3’3358 (o15) ébg"} Ssedo (5)>e.)g6‘) :
1 10 @ 5 3 13 4) 25
196. Match the following Slogan given by the great Indian Leaders :
Group-I Group-II1
(Slogan) (Leader)
(a) Jaijagat (i) Dayanand Saraswati
(b) Kar mat do (i) W Narasimha Rao

(c) Vedon ki vor Lauto (iii). Binova Bhave

(d) Desh Bachao, Desh Banao (iv) Sardar Vallabhbhai Patel
3 §0b DT TR, ©B 2 5B0DS TOHHIS’ BEBE0E.
oI 55o5-11

(AaeSo) (roHEd )
(a) Babs G)  Sasedors BB
(b) &6 H& & (i) .- $6205550°)
) 36b8SBTE i) DS @D
) B85 wors, 35 oo’ (v) dgb Seypseron HE3S . \U«C \1

@ M (© (@
()  Gi) Gv) @) @)
@ G Gv) @) @)
@) Gi) () @Gv) (i)
@ G @ @ 6
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197. Which of the following is defined as the human tendency to understand and share the feelings of anothery

(1)  Empath (2)  Therapy (3) Pty (4)  Apathy
35°68 epbgvoéo @80 BE%SE0 50050 HochHs8S5to o3 BrSHE BB &3 808 e3e° mg"‘sod.
® TS
(1) dHors 2)  Dieby (3) 22d “)
198. Study the following information and answer the question given below.
‘A*B’ means ‘A is greater than B’
‘A#B’ means ‘A is not greater than B’
‘A%B’ means ‘A is less than B’
‘A$B’ means ‘A is not less than B’
‘A@B’ means ‘A is neither greater than nor less than B’.
IfP%Q#R @S $T*Uis given
then, which of the following statement need not be true.
808 Do) eigahdo S, Jots BB HHED SSeESBNY
‘A*B’ @083 ‘BEoBADES A7 S
‘A#B’ @083 ‘B oS Anga st A LD
‘A%B’ @08 ‘BoS A DR ALO .
‘A$B’ wodS ‘B &S A D58 s’ B i
‘A@B’ ©o3 ‘B $085 A BB 5°¢5; DYB 78 N
2536 P % Q#R @S $T*Uadys,
00 §oBTIS® DB KHegn STESIGo S
1) S$Q (2) R*P @ P®mS 4 Q@u
199. Identify the Tiger Reserve Forests in Telangana State :
(1)  Srisailam Tiger Reserve only (2) Kaval Tiger Reserve only

(3) Amrabad Tiger Reserve only (4)  All of the above
Boorres oo &° Hewe @fasrsETgoss HBoSod .

(1) 33eo Hewe eosrdeago Srgd (2) Ko e2Ioseseago Kr°eddh
()  oirerd easosrtago Srgd @) DIY

200. 3 of the 4 alternatives given below are related in a certain wéy and so form\q group. Find the alternative which
does not belong to that group. ;

Sod RS Srenth HEgSTasreS® Same SEghimatren 2.8 AP Sstfoes® K023057) KON esocéto
Se) 2 ?)étf:d‘om ado)d@cm__.béa D058 Bosd éez’gés"&dim‘()& éc‘éagszroé.w_

() EGB (2 KMB 3 QSB 4 OSB
\0
(b')’b Sl oY
WEL LT
e =3 5 3 -00o0-
-1 ™
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